

MEASUREMENT SHEET

Company Name: **Manilal Modi Memorial**
 Project: **MCMET**
 Work Description: **CP-Sanitary fixing work**
 Prepared By: **K.Praveen**
 Approved By: **Ramesh Reddy**
 Date: **12-09-2025**

S No.	Item Head	Item Description	A No's	B units	C No of Toilets	D Quantity	E PO Rate	F=DxE Total Amount	G=E 25%	H=GxD
	(Ground to 4th floor)	Toilets								
1		SACP4804-Sanitary CP-Wall Hung FWC with seat cover-white		1 no's	43	43	3700	1 59,100	925 00	39,775
2		SACP3381-Sanitary CP-CP Pillar Cock		1 no's	43	43	785	33,755	196 25	8,439
3		SACP7374-Sanitary CP-CP Angle Cock		2 no's	43	86	313	26,918	78 25	6,730
4		SACP6006-Sanitary CP-CP Wash Basin Waste Coupling		1 no's	43	43	258	11,094	64 50	2,774
5		PLUM9961-Plumbing-PVC Connection-600mm		1 no's	43	43	105	4,515	26 25	1,129
6		SACP3298-Sanitary CP-Wall Hung WC Rack Bolts--12x180mm		1 pairs	43	43	422	18,146	105 50	4,537
7		SACP6705-Sanitary CP-Rack Bolts-Wash Basin-10X140mm		1 pairs	43	43	215	9,245	53 75	2,311
8		SACP7791-Sanitary CP-CP Health Faucet		1 no's	43	43	518	22,274	129 50	5,569
9		SACP8102-Sanitary CP-Wash basin-White		1 no's	43	43	1242	53,406	310 50	13,352
10		SACP3411-Sanitary CP-Wash Basin Pedestal		1 no's	43	43	1210	52,030	302 50	13,008
11		SACP8351-Sanitary CP-Flush plates-Kohler		1 no's	43	43	3640	1,56,520	910 00	39,130
12		SACP3231-Sanitary CP-CP Wall Mixture		1 no's	28	28	3560	99,680	890 00	24,920
13		SACP4226-Sanitary CP-CP Shower Arm		1 no's	28	28	800	22,400	200 00	5,600
14		SACP6410-Sanitary CP-CP Shower Head		1 no's	28	28	800	22,400	200 00	5,600
POTOTAL								6,91,483	Bill Total	1,72,871

APPROVED BY
28 JAN 2025
 S UMESH KANNA
 ENGINEER (Q.S.)

V. Ramesh Reddy
 28/1/26

APPROVED BY
28 JAN 2025
 SOHAM MODI

From Company:	M C Modi Educational Trust SOHAM MANSION, 5-4-187/3 and 4, 2ND FLOOR, M.G ROAD, SECUNDERABAD, Ranga Reddy Hyderabad,Telangana,500003 GSTNO:36AAATM5488Q2ZO	Delivery Location:	Manilal Modi Memorial Hospital Survey no 31&32 ", ,9121282862
---------------	--	--------------------	--

Supplier Details													
Mohd.Khudoos 5-21/11, Venkateshwar Colony, Balaji Nagar, Jawahar Nagar, Ranga Reddy, TG, 500087 Mohd.Khudoos, 9347419798 NA						PO No	20260130014	Quote No					
						PO Date	30 Jan 2026	Quote Date	31 Jan 2026				
						Supply Type	Work Order	Requisition Num	20260130009				
SNo.	Item Name	Qty	Rate	Dis%	Taxable Amount	GST%						Amount	
						IGST%	CGST%	SGST%	IGST AMT	CGST AMT	SGST AMT		
1	CONST-PLUM1604-Construction-Plumbing-Internal plumbing works-2--LS	100.00	1,729.00	0%	1,72,900	0%	0%	0%	0	0	0	1,72,900	
Addl Spec	Consider UOM as Lumpsum. CP & Sanitary fixing from Ground floor to Fourth Floor.												
									Total Amount ...	0	0	0	1,72,900
Rupees in words : One Lakh Seventy Two Thousands Nine Hundred Only.													

Terms and Conditions:-

Agreement for Construction.	Terms and Conditions mentioned in agreement for construction shall be strictly followed.
Measurement/Estimate	The total quantity of work has been separately estimated and signed by both the parties.
Scope of Work	Scope of work includes Labour charges for Plumbing works of CP & Sanitary fixing from Ground floor to Fourth floor. Material supplied by client. any changes made at site follow the instructions of site engineer in-charge.
Payment Terms :	Payment shall be made based on progress of work, A per advice of site engineers.

Labour Charges
MD Khudoos
MUHARPALLY
Hyderabad

Date: 07-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Plumbing

Towards : Labour Charges

S.No.	Discription	Amount
1	Breif discription of work: Towards toilets cp,sanitary fixing work	69,160.00
	Total amount: 1,72,900.00	

Amount in words: Six nine thousand one hundred sixty rupees only/-

Sign: _____

Allowance For Consumables
MD Khudoos
MUHARPALLY
Hyderabad

Date: 07-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Plumbing

Towards Allowance For Consumables

S.No.	Discription	Amount
1	Breif discription of work: Towards toilets cp,sanitary fixing work	34,580.00
	Total amount:	1,72,900.00

Amount in Words: Thirty four thousand five hundred eighty rupees only/

Sign: _____

Allowance For Equipment
MD Khudoos
MUHARPALLY
Hyderabad

Date: 07-02-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Plumbing

Towards : Allowance For Equipment

S.No.	Discription	Amount
1	Breif discription of work: Towards toilets cp,sanitary fixing work	69,160.00
	Total amount:	1,72,900.00

Amount in Word: Six nine thousand one hundred sixty rupees only/-

Sign: _____